112-15 5= B2 B (IE111-2/448)(H BEE A EZED)

e EE LR B4R mor | @ ;_;; PR e | s
1 [HEE |[AESEEEA _FIRE=F |1B15:0018 220%f | 4.09 2500
2 [HEE [BEHEEA _FES - |1B1§:1001] =08 | 4.14 1 2500
3 [HEES B T2 T EEK—5 5B15:0029 50X | 4.15 1 2500
4 |HREES | TR HEE#—5 5B15:0024 [ROE | 4.15 2 1000
5 (HEER BT ER T EEK—5 5B15:0011] AORE | 4.14 3 500
6 |HEES B TER T EEH 5 |5B05:0002 O | 4.23 1 2500
7 |HEED B TR HEBEEH " 5 5B0%#:0003 =08 | 4.1 2 1000
8 |HEES Btk TER HEEW—8 BAY%:0007] EOZE | 4.25 1 2500
9 |HEER |Erk T =R HEEH—5 BbA9F0007 FEOE | 4.23 2 1000
10 |HEED B TR HEEWH—8 BAYE0017] =03 | 4.2 3 500
11 |HEED [Er TR T EEKIUE bASE0024 $EOE | 4.19 1 2500
12 |HEED [Er TiER L EEHIIE bA8E:0003 [REOIE | 4.14 2 1000
13 |HEES (BB T2 TiER | AFEM—B [BB15:001§ HOR | 4.05 1 2500
14 |HEED [EH LTER HEE T —H |5B15:0008 RO | 4.18 1 2500
15 [HEES |EH T=ER HEET—5 5B1§:0002] 2I0OE | 3.99 2 1000
16 |HEED [EH LER AEE T —H |5B15:0030 220% | 3.98 3 500
17 |HEED [EH LR HEET " B |5B05:0027] BSO8R | 4.29 1 2500
18 |HEED [EH LER AEET "~ B |5B05:0024 #+0sl | 4.21 2 1000
19 |HEED [EH LiER hEET B bB0§L0012 2I0E | 4.14 3 500
A EIEEHEGRRS HEET —8 BbAY%:000 [FROzE | 3.95 1 2500
21 |HEE | & LER] HEET =5 BbA9E0029 RO | 3.88 2 1000
22 |HREER | & LR AEET —H BA9Y%:0030 E50% | 3.83 3 500
23 |HESS | &1 LiER hE2E TS BbA8EH:0001 FO)RE | 3.78 1 2500
24 |HREEE | & LiER HEE T8 bA8E:0004 [ROEZE | 3.73 2 1000
25 |HREIED | 112 % M BiE—B [4B15:20600 20015 | 3.9 2 1000
26 |HREIEE |HEm LIz & M B5#%E—B [4B1#2115 PfEOZEE | 3.79 3 500
27 |HREIEE | 112 % W BiE— 7 [4B15:2017 FFOFE | 4.16 1 2500
28 |HREIEE |Hm LIz & M B1%E—/ [4B1#:2041 BRSO | 4.06 2 1000
29 |HREIEE | 112 % W BiE— 7 [4B15:2015 #AO%L | 4.03 3 500
30 |HREIEE | iz & M 51— B [4B0%2008 EZOFS | 4.24 1 2500
31 |HREIED | 12 & M BB [4B0ogk2105 &0 | 3.71 2 1000
32 |HREEE | i & M 5% B [4B0of#k2109 HO# | 3.69 3 500
33 |HEED [ T2 & B/, [4B0%:2094 #MOFR | 4.14 1 2500
34 |HREEE |[Hm Tz & W B%E_ 7 [4B0E2903 +O1H | 4.12 2 1000
35 |HEES | 2% M EIZE" 7 [4B0%:2018 22048 | 4.08 3 500
36 |HREIEE |[HEm iz & VO3 B3 =B [4A95:2034 7 O8E | 3.72 1 2500
37 |HREIEE | 12 % M3 B3 =B 4A952049 =0 | 3.72 2 1000
38 |HREIEE | iz & VO3 B =B [4A95:2003 SFOE | 3.62 3 500
39 |HREIEE | 12 % W BiE=7 [4A95:2101 #AOE | 3.96 1 2500
40 [HEER [ T2 A VB =, [4A952017 EOFE | 3.94 2 1000
41 (HEER (¥ T2 M BiE— [4A9%22038 =012 | 3.92 3 500
42 |HEER (¥ T2 A P Z=>k—HB [4B1#14088 %20% | 3.86 1 2500
43 |[HEES (¥ T2 V3 Z=k—B9 [4B1#14005 55O | 3.44 2 1000
44 |HEER (¥ T2 M Z=k— 7 [4B1#:4007] #ROIR | 3.7 1 2500
45 |[HEER (¥ T2 M Z=k— 7 [4B1#:4053 Z[O# | 3.64 2 1000
46 |HEEE [#W T2 A Mz B [4B0#:4902 =0% | 4.3 1 2500
47 |HEES (¥ T2 V3 2=k B9 [4B0#:4098 $2O0= | 4.13 2 1000
48 |HEE [ T2 & Vi Z=k B [4BOfR4115 SEO#E | 3.97 3 500
49 |[HEE [ T2 WA 2 [4B0ER40400 #AOZE | 4.18 1 2500
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SEEH]

=257 =Yzl ENSEay i ik Bk %4 s | Hex &HE | AR
50 |HEED |Hm L i2 % M Z=Kk— 2 [4B0#:4002 2I0/x | 4.11 2 1000
51 |HEEE |[Hm L2 & W3 z=k— 2 [4BO#R4037 Z=0O% | 4.02 3 500
52 |HEED [ 12 % i =K =B [4A954044 EFOE | 3.83 1 2500
53 |HEED | L iZ & V3 2=k =B [4A9%514097 #OZh | 3.74 2 1000
54 |HEED |[Hm L i2 % i =K =B [4A951:4087 FEOHE | 3.69 3 500
55 |HEEE |HEm L i2 & M=Kk = 4A954109 #ROE | 3.88 1 2500
56 | HEED |Hm 12 % W Z=Kk = [4A954050 FRO%Z= | 3.8 2 1000
57 |HEEE | 12 & M=Kk = [4A9514088 #ROEN | 3.72 3 500
58 |HEED | 112 % Vi Eatm—EF [4B1#1:5058 EOFE | 3.6 1 2500
59 |HEEE | L iZ & VU3 Esdm—Er [4B1515082 PRO#AE | 3.51 3 500
60 |HEIED |t 112 % N3 EE— [4B16:50120 IOk | 3.66 2 1000
61 |HREIEE | i % V3B —, [4B151:5009 5RO&E | 3.34 3 500
62 |HEIED | 12 % V032 e BF [4B055068 1H50R 4 1 2500
63 |HREIEE | T2 & V3Bt _ P [4ABO%:5084 =07 | 3.93 2 1000
64 |HEES | T2 % PO+ e — BP9 [4B0%5003 +OfE | 3.82 3 500
65 |HREIEE | iz % VB8 W_ /, [4ABO%E:5075 £20f@ | 4.29 1 2500
66 | HEIED |Hm TI2 &% V7 E8W _ /, [4BO%k51220 £OmE | 4.15 2 1000
67 |HREIEE | iz % Ve 8W_ /, [4BO%:5033 PEORE, | 3.98 3 500
68 |HEIES |t 112 % V3B — BF [4A98515022 #A0OJt | 3.67 1 2500
69 |HREIEE | T iZ % V4Bt — B9 [4A941:5038 PEOF | 3.59 2 1000
70 |HEEB |#wm 112 % VO3 et — B [4A9%5:5030 FROsL | 3.57 3 500
71 |HEEE |#wm 2% VB — / [4A9515009 #MOEH | 3.67 1 2500
72 |HEER [#Em T2 & VB — 7 [4A95:5033 RHFOEE | 3.65 2 1000
73 |HEES |#Ewm 2% V8 — / [4A9%515063 PEOKX | 3.55 3 500
74 |HEE |Bl# EmERETER My ERR—E pB15:C023 =O%K | 3.65 1 2500
75 |HEES |Blfh EmekEt & i e —H UB14:C083 FO= | 3.46 2 1000
76 |HEE |Bl# EmERET & M ER—, pB15co0d FEOK | 3.64 1 2500
77 |HEES |Blfh EmeREt & M3 =8 — WB15:C033 FEOFE | 3.56 2 1000
78 |HEE |Bl# EmERET & O EE B pB0E:C019 sROfE | 3.79 1 2500
79 |HEES |Bl¥h EmeREt & P03 228 — B9 MB0%:C029 #OzKk | 3.71 2 1000
80 |HEES |El# EmaREt & O3 &=z 2 WB0%E:C03d 3RO 3.98 1 2500
81 |HREIEE |El#h Ema’Et & M3 =8 — 2 WB0%:C104 5O#E | 3.87 2 1000
82 |HEES |l EmeREt & VO3 ERR — 2 BBOE:C007 FEOIE | 3.86 3 500
83 |HREIEE |ElF#h Ema’Et & VO3 e — BF BA9ERC004 5RO3Z | 4.02 1 2500
84 |HEES |l EmeREt & N ER =5 pA9E:C014 E£Of [ 3.94 2 1000
85 |HREIEE |ElF#h Ema’Et & Vi3 s — 0 BA9ERC07( #ROFE | 3.79 1 2500
86 |HEES |ElF# EmeRat & M ER = BA9EEC03] #MOF) | 3.77 2 1000
87 |HEIEE |[RITEREFEA MmiT = % —B4B0#0041 10K | 4.11 1 2500
88 |HEIES |[MITEREFEA V1T & 8 —BuB1ED071 #kOFH | 4.05 2 1000
89 |HREIEE |[MITEREEA m TS 84—BuB15:D01q 2FOK | 3.89 3 500
90 |HEES |[RITEREFA IR TS 88— BB15:D094 ROM | 4.16 1 2500
o1 |HREIEE |[MITEREEA IR TS 8 — /BB15:D103 IO | 4.16 2 1000
R |HEE |RITELEEXS WRiTE%— #B1E:D06] 5RO | 3.92 3 500
93 |HREIEE |[MITEREEA Vo T & 84— BFuB0sD02] =0 | 4.17 1 2500
94 |HEES [RITEEEXS M7RiT= %" BuB0E:D00d Z=OIL | 4.08 2 1000
o5 |HREIEE |[RMITEREEA V7 TS 24— BUB05LD04] SOk 4 3 500
9% |HEEE [T EREFA Vit E % ZpB0ED91Y # O | 4.12 1 2500
o7 |HREEE |[[RITEREEA IR TS %" /BB05D06] =07F | 4.06 2 1000
98 |HEES |[RITEEEXS WRiTE%— /BB0E:D09] SO0& | 3.96 3 500
99 |HEEE |[RMITEREEA VT % —BMA95D08Y] EOIT | 4.18 1 2500
100 | HEES [RITEHEES MmiTE % — BFMA9ED05] O | 4.09 2 1000




N7 +E5 AN B
B E) s we | oww | e | L0 | m
101 |HEE PRITEHEES V71T 2% — EMA9ELDO5d 2RO | 4.09 3 500
102|HEE IRITE%EFE S IR TS 8= ZpA9%:D024 FRO¥E | 4.09 1 2500
103 |HEE [RITEHEES RiTE %= ZAA9ELD05( # O | 4.02 2 1000
104|HEE IRITEREFE S IR TS 8= ZpA9%D05] RO | 4.02 3 500
105 EEEEEE @g%éﬁ%i% @EE%%@EEEMAS@%Dglz ZEO | 3.85 1 2500
106 | HEES | S iEALIRE % S&—8 [4B15J001 =05 | 4.12 1 2500
107 |HESS | SiRBEALIRE % N eE—HF 4812;002 %O% 4.07 2 1000
108 | HEES | S iREALIRTE % =% __ B [4B0%:J010] MO | 4.14 1 2500
109 | HEES | SiRBALIRE % N = B pA9E:C100 EOE | 4.01 2 1000
110| HEES | SiREALIRE % N sE=mF [4A9::1001] 2O0A | 4.1 1 2500
111 | HEE | SiREAL RS % N sE=F [4A9:0100 #OfF | 4.09 2 1000
112|HEES |EE T 2% VU3 B8EE—H [4B1#1:0083 =05 | 3.95 1 2500
113|HEES |ER T 2% VO3 B8 —H [4B15:7021 =07t | 3.88 2 1000
114|HEES |EHE T 2% VU3 B88 B [4BO%R7011 #O¥% | 3.86 1 2500
115 EEE.;EE i'-aﬁ%i% %;E@é: 4B0%:7033 EEOE; 3.76 2 1000
116|HREEE |& Z5 B2EE— B 4A95:7019 HOS 4.03 1 2500
117|HEES |EH T2 % VUi B85 — 4A9g\t7007 Z0F | 3.9 2 1000
118|HEES |EBHE T 2% VU3 B88 — B9 [4A94:7009 PEOF | 3.79 3 500
119|HEES |EH T 2% M3 8EE—H [4B16:8013 FOut | 4.26 1 2500
120| HEES |EBHE T 2% M E&E—H [4B1#:8052 ;10%8 | 3.97 2 1000
121 |HEES |ER T 2% M3 8EE B [4B0%:8012 EOIR | 4.25 1 2500
122|HEES |EE T E% MirEE & — B [4B05:8013 FO%S | 4.19 2 1000
123|HEES |ER T 2% 3 8EE B [4B0%8014 S=OFE | 4.16 3 500
124|HEES |EBHE T 2% M8 E — B [4A9518037 RO | 4.27 1 2500
125 EEE.;EE i‘-éii%i% %%@EE’TEEE 4A97:8030 éo'tﬁ 4,27 2 1000
126 | HEES | & £ 5 BTEE— B 4A95:8007 FROE | 4.2 3 500
127 EF'EEEB R AREE V317 s —HB UB1HC009 MO | 4.26 1 2500
128| HEES |EBH T 2% Vi —B UB14C043 =018 | 4.17 2 1000
129| HEES |EH T 2% V33 —E UB1§C004 KO#: | 4.05 3 500
130|HEES |EHE T 2% g — 7 BB15:C074 E£OAB 4 1 2500
131|HEES |ER T 2% M1 s — 7, BB1EC097 BRO1E | 3.75 2 1000
132|HEES |EE T 2% Mg — 7, UB15C104 PFEO®I | 3.65 3 500
133|HEES |ER T 2% VU332 — BF UB0&RC013 BIOfE | 4.25 1 2500
134|HEES |ER T 2% VO$1%= g2 — BF MBO&CO3y Z=O1ME | 4.23 2 1000
135|HEE |EE TiZA VO3 168 — B9 UB0E:C037 FROL | 4.21 3 500
136 | HEES |EH T 2% M1 ga — /, BBO&Co8y =0T | 4.11 2 1000
137 |HEE |EE TEA Mg — 2 pB0E:C12d #O= | 4.02 3 500
138|HEES |EH T 2% VU371 ga — B9 pA9ELC02§ 2O0&F | 4.24 1 2500
139|HEES |EH T 2% VU417 58 — B9 UA9ELC007 SO | 4.14 2 1000
140| HEES |EHE T 2% PO+ 12288 — B9 BA9ERC029 ZO&Y | 4.09 3 500
141 |HEES |EH T 2% W iEg =2 BA9ERC0O7H 220% | 4.3 1 2500
142|HEES |EE T E% Mg = BA9ERC06Y ZO4E | 4.25 2 1000
143 |HEE |EETEA Wi e = BA9EEC08] FEOF | 4.23 3 500
144|HESS |EFIT1EA 78 +—H [4B1#:0046 =O0%E | 3.88 1 2500
145 |HEES |EF T2 % V18— [4B1#:0003 %20k | 3.58 2 1000
146 | HEES |BEF T2 M8 +—H [4B1#:0109 ESOZE | 3.4 3 500
147|HEE |EF T2 % 38 +— [4B15:010§ SBOE | 4.2 1 2500
148 | HESS |BEF 112 A M &8E+—/, [4B1#:0044 Z=OFf | 3.86 2 1000
149 |HEE |EF T2 & MirE+— [4B1E:0068 =OF | 3.85 3 500
150 HESS |BEF T2 M8 F—R [4B1#:0019 SOZE | 3.4 1 2500
151 |HEE |EF T2 % V378 + _HF [4B0%:0004 =0O%, | 4.3 1 2500




e ) LF2TE 5148 ma | e | L0 00w | me
152|HEES |EF T2 % it E+ B [4B0%0910 #HO3E | 4.26 2 1000
153|HEE |EF T2 % V38 + B [4B0#10902] 5RO | 4.12 3 500
154| HEES |EF T2 % Vi &E+_ 7, [4B0%:0078 EBEO%m | 4.1 1 2500
155 |HEE |EFT1E % VIR E~+_ / [4B0%0135 Z=OF | 4.05 2 1000
156 | HEES |EF T2 & MiyE~+ 7 [4B0fk0089 FEO%E | 4.01 3 500
157 |HEE |EF T2 % 38+ [N [4B0%002 EOxE | 4.2 1 2500
158 | HEES |EF T2 & s+ N [4B0%:0032 Z O3, | 4.03 2 1000
159|HEES |EF T2 % Vi 8+ —H [4A95:0137 2IOE | 4.17 1 2500
160| HEEB |EF T2 % V& v —H [4A950189 FROY | 3.94 2 1000
161 |HEE |EF T2 % 18+ —H [4A95:0086 =Ozk | 3.89 3 500
162|HEES |EF T2 % 8+ =2 [4A9%5:0129 220E | 4.05 1 2500
163|HEES |EF T2 % &+ —/, [4A9%5:0038 RO | 3.94 2 1000
164| HEES |EF T2 % 38 F =N [4A95:0154 FRO#E | 3.98 1 2500
165|HEES |EF T2 % M8+ —N 4A950168 ZOF | 3.97 2 1000
166 | HEES |EF 112 % &+ =N [4A9500559 RO | 3.84 3 500
167 |HEE |EF T2 % &+ —1 [4A95:0014 EOH | 4.14 1 2500
168|HEE |EF T2 & M EF—=1 [A950019d ZOfE 4 2 1000
169| HEE [MEETEEMR TZZ | TUR{EM—5 4B15:0002 =Of | 4.14 1 2500
170 | HEES [{EBTREBEMR TER | UM — 4B15:0004 =0 | 4.13 2 1000
171 |HEE BT EBEMRTZEZR | UR{EM—4 4B1E:0059 =OFE | 4.02 1 2500
172|HEES BT EBEMR T E R | TUR{EM— |4AB1E0057] #AO#% | 3.71 2 1000
173|HEE BT EBEMRTZEZR | UR{EM—4 4B1E:0067] Z=O% | 3.36 3 500
174|HEE B TREEMR TEZR | TUREM P [4B0%:0007] BEO® | 4.21 1 2500
175|HEE BT EBEMRTZE % | TUFE# _F 4B0E:0012] =OFE [ 4.19 2 1000
176 |HEES B TREEMR TER | TUREM — 4 |4B0E:0087 =07 | 3.96 1 2500
177|HEE BT EBEMRTZEZ | TUR{EM 4 14B0ER0051 KO | 3.73 2 1000
178 |HEES B TREBMR TEER | TUREM 4 |[4B0E:0050 £20& | 3.6 3 500
179|HEE MEETZBEMR TEZ | UR{EM =5 4A9E:001d FOiK | 4.3 1 2500
180 |HEES [{EEBTREBEMBI TIZR | TUREM =5 UA9E:0003 FEOM | 4.18 2 1000
181 |HEE BT EBEMRTZEZ | TUR{EM =5 4A9E0039 EO 412 3 500
182|HEES MEB T EBEMRITE R | TUR{EM =2 4A9EL0045 #E0 4.1 1 2500
183|HEE BT EEMRTZER | UREM =2 4A9E0080 EFORE | 4.06 2 1000
184 | HEES | TEEREEH A Wi T&—H [4B15:2007 55O% | 4.26 1 2500
185 |HEES | TEEEBEH % M TE—H [4B1#:2002 ZEOT | 4.03 2 1000
186 | HEES | TEEIRBEEH A M T&E—/, [4B1E:2055 PROIE | 4.03 2 1000
187 |HEES | TEEEBEH % M TE—/ [4B1#:2059 #MO# | 3.97 3 500
188 |HEES | TEEREEH A i T& "B [4B0%:2002 RO | 4.25 1 2500
189|HEES | TEEEBHEH % M T& B [4B0fk2029 Z=OfE | 4.13 2 1000
190 HEES | TEEREEH A W T8 7 [4B05:2094 220#f | 3.9 1 2500
191 |HEE | TEEEBEEH % M TE— 7 [4B0fk2092 EXOXX | 3.79 2 1000
192 [HEES | TEEREEH A M T&E 7 [4B0%:2099 2203 | 3.74 3 500
193 |HEE | TEESHEBEH % M3 T& =B [4A9%:2001] ZEOE | 4.27 1 2500
194 | HEES | TEEREEH A Wi T8 =B [4A951:2032 5204w | 4.13 2 1000
195|HEE | TEEEBEH % W T&E =7 [4A95:2067 =0%# | 4.27 1 2500
196 | HEES | TEEREEH A W TE& =7 [4A95:2084 =02 | 4.27 2 1000
197 |HEZ | TEESHEBEH % Ty Er— [4B1£:5038 FOZ | 4.08 1 2500
198 [HEES | TEEREEH A V35 B —E [4B1§1:5002 /&0 {E| 3.93 2 1000
199 |HEE | TS B EH % VO3t EEm B [4B0GL5017 =04 | 3.97 1 2500
200| HREES | LTEEHEBEH A V&g B [4B0%#:5039 =0 | 3.77 2 1000
P EIEENRETSEEERED Mt EEm — B [4A9%:5019 Z=O# | 4.13 1 2500
202 | HEES | TEEEBEH A Vi EEm = 5P [4A95:5057 EOIE | 3.91 2 1000
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=257 =Yzl ENSEay i iR Bk %4 s | Hex &HE | AR
203|HREED | TXEEEENZ W8 = [4A9%:5010 220355 | 4.09 1 2500
204| HREES | LESHEBEH A &R = [4A95:5032 5507 4 2 1000
205 | HEIES |BIFR{EFE % VO35 B {E—EF [4B16:0070 5ROFE | 4.1 1 2500
206 | HEIES |BIFR{EFE VU3 B {E—EF [4B1£10072] 5501 | 4.08 2 1000
207 |HEE |BFR{EEZ B {t—/, [4B15#:0035 ZEFO | 4.16 1 2500
208 | HREES |BIFR{EFE S M Bt —/, [4B1#:0077 BSO¥E | 3.96 2 1000
209 | HEEL B FR{EZEZ VO35 B & BF [4B0%R0024 RO | 4.3 1 2500
210 HEES |BFR{EZEZ VO3 B & B [4B0%0074 @O%= | 4.2 2 1000
211 |HEER |BFR{EEZ VO35 B & BF [4B0%0084 FEORE | 4.18 3 500
212 |HEER B FR{EZE £ 3Bt 7 [4B0%003 Z=O& | 4.09 1 2500
213|HEER |BIEEEZEA M 7 [4B0%E0055 FFOAL | 4.03 2 1000
214 | HEES |BFR{EZEZ 3Bt 7 [4B0%0008 =019 | 4.03 3 500
215 | HEIES |BIFR{EFE % VO35 B (&= B [4A951:0919 HORE | 4.28 1 2500
216 | HEES |BIR{EFE S VU4 B B — B9 [4A94:0079 #FO= | 4.17 2 1000
217 | HEES |BIR{EFE % VO35 B & — B |4A985:0031 AJO¥E | 4.12 3 500
218 | HEIES |BIR{EFE M Bt — 7 [4A95:0009 AMKOF | 4.21 1 2500
219| HEER |BIEEEZEZ MiEE= 4A%5006d FOE | 4.21 2 1000
220 HEES | R BB+ EA B [UE R EE—54B15:5003 BrOBE | 4.04 1 2500
221 | HEE | BB ERE (RS _$4B0E50120 FEOY | 4.19 1 2500
222 | HEE |BFE s BB+ BB [ #% = EF4A9E500d XOF | 4.3 1 2500
223|HEES |[(EEEE A M3t E—H [4B15:0040 FOE | 4.08 2 1000
24| HEES [(PEEE A Mt E— [4B1E0012] #O%8 | 4.18 1 2500
225 | HEES [(EEEE A i EE—N [4B15:0073 HOE | 4.29 1 2500
226 | HEES [(PEEE A M tE—)R [4B1E0055 RO | 4.07 2 1000
227 |HEES |[(EEEE A M3 bE B [4B0%R0028 =O0OIH | 4.14 1 2500
228 | HAEES [(PEEE A M & — B [4B05L0049 TOH | 4.1 2 1000
229| HREER [(BFEEE A W8 — B [4B0%:0101 2O | 4.02 3 500
230 HAEE |[(BEEE A M & — 7 [4B05L0096 R=OZE | 4.21 1 2500
231 |HREES | BEEHE % MtE_— 7 [4B0E0098 20X | 4.18 2 1000
232 |HAEER |[(BEEE A M & — 7 [4B05E0909 #MOfE | 4.14 3 500
233|HEE [(EEEE A M3 bE =B [4A9510091] #MOE | 4.3 1 2500
234|HEE |[(PEEE A V3 b — B [4A9%0097 5RO&: | 4.3 2 1000
235 |HEE [(EEEE A M & =B [4A95:0088 =O01E | 4.24 3 500
236 | HEE |[(PEEE A &= 4A950019 2RO0= | 4.16 1 2500
237|HEE |[(EEEE A e = [4A95:0048 FROIF | 4.16 2 1000
238 | HAEES |[(BEEE A &= [4A95:0002 ZOBE, | 4.12 3 500
239 | HEES |42 ER % N34 —H [4B18:0011 PFEOZE | 4.03 1 2500
240 | HEIES |45 R % M it —HB [4B1#:0081 %=O03% | 3.98 2 1000
241 |HEES |12 ER % M 4 —HB [4B1#:0003 PROE | 3.97 3 500
242 | HREIEB |4 R % Mt — 7 [4B1#:0066 #HOE | 4.17 1 2500
243|HEES |2 R % iz itE— [4B18:0047 Z=0& | 4.15 2 1000
244 | HEIEE |42 % Mt —/ [4B1#:0116 2O | 4.13 3 500
245 | HEES B3 SR A VO35 84 — B [4BO%R000Y] FROME | 4.3 1 2500
246 | HEIED |42 Rl % M7 R4 — B [4B0%R0019 Z=0% | 4.23 2 1000
247 |HEES |4 A 4 — B [4B0§:0026 ESO= | 3.98 3 500
248 | HREIEE |42l % M1 — 7 [4B0#:0103 #FOIE | 4.26 1 2500
249 | HEES B3 ERE A Win it — 7 [4B0ER0028 FO#E | 4.21 2 1000
250 HEER |41 SR & M8t — 7 [4B05L0093 /O | 4.18 3 500
251 | HREIES |42 ER % O & =5 [4A95L0109 5RO | 4.22 1 2500
252 | HEER |41 E Rl & M B4 =B [4A950023 #OZS | 4.09 2 1000
253 | HREES |42 ER % i 81 = [4A95:0019 #HOZ | 4.07 3 500




e ) LF2TE 5148 ma | e | L0 00w | me
254 | HEEL [ ERl A i€ =2 4A9EL0079 Z=0x% | 4.16 1 2500
255 | HREIES | AR % Mt =7, [4A95:0013 BFOUn | 4.14 2 1000
256 | HEES |43 ERE A i€ =2 [4A95:0124 ##EOYF | 4.08 3 500
257 | HREES |12 ER % V4 — 1N [4A9510033 PFREOZK | 4.22 1 2500
258 | HEEL A3 ER A i = [4A9%5:0111 FOE | 4.19 2 1000
259 | HREIES |4 R % M4 =N [4A95:0003 ROfR | 4.19 3 500
260 HEES |EHEE A M EE—H [4B16£:0037 FROZ | 3.99 1 2500
261 |HEES |BEHEEA i EE—H [4B15:0032] 5RO;E | 3.93 2 1000
262 | HEES |EHEE A i EE— [4B1E:0052 kO | 4.13 1 2500
263 |HEES [BEHEEA i EE— [4B15:0064 SOk | 4.01 2 1000
264| HEES |EFEE A W &EE— [4B15:0001] EO® | 3.98 3 500
265 | HEES |BEHEEA i EE—N [4B1E:0077 BEOW | 4.13 1 2500
266 | HEES |EHEE A M EE—N [4B15:00700 5ROE | 3.81 2 1000
267 |HEES |BEHEE A M EE—RN [4B1#:0145 =0s/l | 3.78 3 500
268 | HEES |EHEE A M EE B [4B05:0007 ZOj3h 4 1 2500
269 | HEE [BEHEE A &S _ B [4B0#0033 #8044 | 3.89 2 1000
270 HEES |EHEE A NEE_ [4B0Ek0166 =0F | 4.13 1 2500
271 |HEE [BEHEE A MFES_/ [4B0E0162] O | 4.01 2 1000
272 |HEES |EEE A MEEE "7 [4B0kk008y #FOF | 3.96 3 500
273|HEE [BEHEE A M ES_ N [4B0#0099 =01 | 4.08 3 500
274|HEES |EHEE A M EE = [4A9%:0109 B0 | 4.11 1 2500
275 |HEES |[BEHEE A M &S =B 4A95090] =0 | 4.01 2 1000
276 |HEES |EFEE A M EE =8 4A%5005d ZOE | 3.94 3 500
277 |HEES |BEHEE A &S =/ [AAH0150 =0%= | 4.3 1 2500
278 | HEES |EHEE A N EE = [4A9501559 22085 | 4.24 2 1000
279|HEE [BEHEE A MFEEE = BAH0070 =0 | 4.21 3 500
280 HEES |BEHEE A I EE =N 4A950016 #OE | 4.17 1 2500
281 |HAEES |BEHEE A M EE =R [4A9%:0037 #EOrs | 3.98 2 1000
282 | HEES |EEE A MiEEE =R BA%000d ZO0% | 3.95 3 500
283|HEE [E5tEH A M= E B [4B0#:0003 RO | 4.3 1 2500
284|HEIEL |[EET & A Mir=E " B [4B0Kt0030 #O0%# [ 4.24 2 1000
285 |HEE |25t EH A M= E_ B [4B0#0039 =0 | 4.16 3 500
286 | HEIES | 5T ERN A M EE = [4A9510902 208k | 4.3 1 2500
287 |HEE |25t EH A M3 EE — B [4A950008 FRO*%E | 4.3 2 1000
A EEE EREGED MyEE =5 4A950044 OZ= | 4.26 3 500
289 | HAEEL |[ABIBEEHE A VA E—B [4B1#:0057 £OZE | 4.22 1 2500
290 HAEES |[ABISEEE A VKA —B [4B1#1008y =0 | 4.14 2 1000
201 [HAEES [ABIBEEE A M KB — 2 [4B15:0036 3FO%E | 4.1 1 2500
AEEENEEESSEED W KB — [4B15:0032 %50= | 3.91 2 1000
293 |HEES [KESEEE % V7R E BB [4B0%:0014 +OZ% | 4.24 1 2500
294 | HEES | KBS EEIE A V3 RE B [4B0%0032] £O= | 4.17 2 1000
295 |HEES [KESEEE % M AE — 2 [4BO#R0089 PEOZ | 4.16 1 2500
296 | HEIES | KBS FEEIE A V3 KE 2 [4BOER0079 =0 | 4.16 2 1000
297 |HEEE [KESEEE % PO+ KA =B [4A9%1:0039 220 | 4.19 1 2500
298 | HEIEL [AKESEEEE % O KB =B [4A951:0039 28025 | 4.16 2 1000
X EEEENDEESSSEER W IKE = [4A9%:0099 2I0% | 4.3 1 2500
S IEIEENENEEESSEED W IKE =2 [4A95:0036 RO | 4.3 2 1000
301 |HEE |FER=EEA DOy 2a:E3—BR [4B1£20033 RBIOZE | 3.87 1 2500
302|HAEES |[FER=REA VU3 s2—BF [4B1£10027] #HO: | 3.74 2 1000
303|HEE |FEREEA PO3b 5552 — BB [4B050025 35O0F | 4.23 1 2500
304| HEER |FERRRE A M3k 5azE — B [4B0%0027] BEFOZE | 3.9 2 1000




N7 +E5 AN B
e ) LF2TE 5148 ma | e | L0 00w | me
305 | HEIES |FERREE % VO3 oazE — B9 |4A95:0077 202 | 3.73 3 500
306 | HEES |FERE=REA Vi oaz8 — B [4A950040 FHOM | 4.3 1 2500
307 |HEES |[ERZRZE A VO3 oa 282 = BF [4A98:0064 BFORK | 4.3 2 1000
308 | HAEES |FERE=EA V45538 — B9 [4A9510007] £20% | 4.23 3 500
309 | HAEES |1TiH B MBEIE % U7/ —H 4B16:0103 B:O% | 3.93 1 2500
310 HEE [1THHELRBEE A 3297/ —H [4B1#10067 =07 | 3.87 2 1000
311 |HEE [1TiHEREEE A W97/ —B [4B150055 =0 | 3.83 3 500
312|HEE [1THERBEEE A W17 m— |4B1E00600 $2O¥x | 4.25 1 2500
313|HEES 1T R EEE A 317 — 4 [4AB1E0044 BROZ | 3.98 2 1000
314|HEE [1THBEDRBEE A W97/ — 4 [AB1#0052] =0%& | 3.87 3 500
315 |HEER |17 masEiE % M+ 1Tm B [4B0%:0073 Z=O%5 | 4.09 1 2500
316 | HEES [1THELRBEE A 3297/ B [4B0%R0127] %20%8 | 3.95 2 1000
317 |HEER |17 masE % M 17m_ B [4B0%k0083 #8OFF | 3.94 3 500
318|HAEES [1THHELRBEEIE A W17 m 2 |4AB0%ER0011 5ROZ | 4.15 1 2500
319|HEER |17 masEiE % Wi 7m — 2 [4B0%:0082 EOSE | 4.01 2 1000
320 HEES [1THBELRBEE A 217/ — 2 |4B0%0003 2IOBE | 3.93 3 500
21 |HEE [T REEE A W37 m =B [4A95:0002 S=ORE | 4.02 1 2500
322 |HEE [1THEREEE A M7 17m =B [4A94510037 5ROZ 4 2 1000
323|HEES 1T REEE A M3 77% =B [4A9%20903 EEOUE 4 3 500
324|HEE [1THBERBEEE A W 1mm =0 [AA950041 KEORL | 4.3 1 2500
325 |HEES |17 masEiE % MEITm=, [AA9%5:0039 RO | 4.23 2 1000
326 HEES [1THHELRBEE A W17 m = [4A95:0033 PROER | 4.16 3 500
327 |HEES |FERHHE % M HeE—B [4B1%:0005 =O0# | 4.14 1 2500
328 HEES [EREHEA IEBEE-E—EF' 4AB1#1:0072] 5FO%E | 4.09 2 1000
329|HREIES |FEAHHE % =R 4B1510039 =FOH | 4.11 1 2500
330|HEE [EREHZEA E?SEEIEE—Z 4B1510106 ZOH 4 2 1000
331 |HEE [FERHZEZA My HiE— [4B1E:0050 RO | 3.92 3 500
332|HAEE [EREHZEA M3 HzE — B [4B05L0091 EORS | 4.17 1 2500
333|HEIES |FERHE M3 HzE B [4B0%R0012] 5ROZE | 4.15 3 500
334|HEE [EREHZEA M3 HzE — / WB0%:C10] #8033 | 4.03 1 2500
335|HREIES |FERHEZ i HzE 2 [4B0ER0054 FEOZF | 4.03 2 1000
336|HEES [ERHZEA M HzE_~ [4B0%R0047] Z=O:E 4 3 500
337|HEES |FERHHE M3 HzE =B [4A95:0904 FFO1E | 4.21 1 2500
338|HAEE [EREHZEA VO3 HEE =B [4A95:0004 Z=Oi | 4.21 2 1000
339|HEIES |FERHHEZ M3 HzE =B [4A95:0070 2204 | 4.19 3 500
340 HEE [FEREHZEA M HEE = [4A95:0024 S=01F | 4.21 1 2500
341 |HEE [FEFFHZEZA W HE = [4A95:0002 FEOZ | 4.18 2 1000
342 |HEES [FEREHZEA M HiE = [4A95:0924 =048 | 4.18 3 500
343|HEES | B EE % M &EE—H [4B1#:0038 10~ | 4.13 1 2500
344 | HEE | EHBIEA M3 & E—B [4B15:0037 21037 | 3.91 2 1000
345 | HEES |EHBIEA M &EE—H [4B1#:0003 #OZ | 3.85 3 500
346 | HEIES | & ﬂ@%%\ @B‘z%ﬂ%—z 4B15:0109 +O%m | 3.97 1 2500
347 |HEE | EHEE A M EE— [4B15:0039 2I0%F | 3.92 2 1000
348 HEEL | & ﬂ@%%\ My &EE— [4B1£:0014 2ZO0Z% | 3.89 3 500
349 | HEES | B EE % M3 &8 B [4B0%R001] #0% | 4.27 1 2500
350 | H 26 :T;mﬁ%%\ iy &EE B [4B0£:0032 ZBOWE | 4.23 2 1000
351 |HEEE | B EE A My EE_H [4B0FR0070 2058 | 3.98 3 500
352 | HREES | & HE%%\ @B‘z*h: 4B0%1:0028 Z=O& | 3.92 1 2500
353|HEE | EEEA Mir&EE "7 [4B0F0003 501 | 3.85 2 1000
354 H B ER ‘”"mﬁ%%\ Miy&EE_ 7 [4B0%:0039 ZBOIH | 3.81 3 500
355 | HREES | B EE % Mt & E—B [4A9%20067 5RO 4.3 1 2500




B 2 #F2H we | oww | e | L0 | m
356 | HEES |EEEA M EBE =5 4A9E:0042 ZOR | 4.17 2 1000
357 | HEES |BEHBIEA M3 &8 — B [4A95:0053 RO | 4.17 3 500
358 | HEEB '”‘HLA%,% M &EE =7 4A95:0016 O | 4.25 1 2500
359 HEES |EHEIEA N EE = 4A95:0102 BOIE | 4.17 2 1000
360 | HEEB '”‘ﬂ@%,% M EE =7 4A950094 Z=0% | 4.12 3 500
361 |HEE [BEH TEA & T —H [4B1#:0161 BEO# | 3.9 1 2500
362| HEE |[BEH L2 A & T —H [4B1#:0176 FROX | 3.74 2 1000
363 | HEES ‘”‘ﬂIaE % S I EE 4B15:0091 S=OIMf | 3.67 3 500
364|HEES |[EH LA i E J 1AB1E0168 2I10¥% | 3.97 1 2500
365 |HEES [BEH TIEA @ﬁ:ﬁl—z 4AB1%1:0026 FEOZ | 3.9 2 1000
366 | HEES |E L2 W& T — 7 [4B15:0062 5RO%E | 3.76 3 500
367 |HEES [BEH TEA & T —N [4B1#:0138 #£0% | 3.69 2 1000
368 | HEES |[BEH L2 A M3 & 1T —A [4B16:0007] =081 | 3.66 3 500
369 | H B ES ‘”*ﬂI% % & T — B [4A7H0094 KRO%E | 4.04 1 2500
370| HEEE [E T2 A M#E T~ B [4B0%:0090 SO0 | 3.93 2 1000
371 |HEE [BEHTEA B I EE 4B0%5L0179 ZO®, | 3.57 3 500
372|HEES [EH L2 A W ET 7 [4B0%E:0129 =01 | 4.24 1 2500
373|HEE [BEHTEA E?SE:E%I:Z 4B0%5:0137 0= | 3.81 2 1000
374|HEES |EFR TZ A W& T — 7 [4B0%:0001 mO% | 3.81 3 500
375|HEE [BEH TEA MREL A 4B0%5L0146 2103 | 4.12 1 2500
376 |HEES |[E L2 A MyET N [4B0HR0113 #O%ZE | 3.6 2 1000
377|HEE [BEHTEA & T N [4B0#0152 #OfE | 3.53 3 500
378 | HEE |BEH L2 A M3 & T =B |4A95:0067 ZOH | 4.23 1 2500
379|HEE [BEH TEA & T — B [4A9510144 208 | 4.2 2 1000
380 HEES |BEH L2 A S I EE AA9E0009 MOz | 4.18 3 500
381 |HAEE [BEH TEA MFEET =7 [4A%20122 FEOFE | 4.26 1 2500
382|HEEE [ETZA @BE%?IEZ, 4A9E0042 PROEBH | 4.23 2 1000
383|HAEE B LIEA & T = [4A95:0059 #HO= | 4.09 3 500
384|HEE [EMEEmAR A WEHEm—E4B15:0005 £I0Z% | 3.75 2 1000
385 |HAEE [EVBEmAIT A MR Em—B4B150020 £03E | 3.7 3 500
386 | HEES [EMHEEmAT A MaER e BH4B05:0011 BESO#E | 3.96 1 2500
387 |HEE £V EmAT A R Em_ BH4B0#0003 =O0IE | 3.48 2 1000
388 | HEES [EMHEEmAT £ WER Eam_  4B0E#:0053 # OIS | 3.96 1 2500
389|HEE [EVBEmAIT A WEREm_J4B0#0902 =01E | 3.94 2 1000
390 HEES £V B EmAlIt A AR B m—F4AEL0051 20O 4 1 2500
391 [HEE [EVBEEmAlT A WEH 8= F4A%:0059 #HOZE | 3.83 2 1000
3 |HEE [EMEEmiR A MERBEM=BAY%R0904 2204 | 4.1 1 2500
393|HAEE [EVBEmAliT A WERBEm=_4A%:0059 BOKE | 4.09 2 1000
394 | HEES | N7ZRE & VO3 40 —EF [4B180041 #HO%E | 4.16 1 2500
395 |HEE |7 HRB A MO 401E—B [4B1#20025 ZFOUE | 4.14 2 1000
396 | HEES | N7ZIRB & 340 — P [4BO%R001Y EOZE | 4.18 1 2500
397 |HEE |7 HRB & VO 401% — B [4B0#:0014 =0Z | 4.18 2 1000
398 | HEES | NW7ZIRB % M3 4nf= B9 [4BO%0006 Z=0%8 | 4.15 3 500
399|HAEES |7 RB A V3 anfr =B [4A9%5:5028 =0% | 4.26 1 2500
400 HREEE |4 RIRB & O+ 4n R =B [4A9%:0003 S O | 4.19 2 1000
401 | HREED |4 RZIRB & 3 anfr =B [4A9%5:0012 FROE | 4.19 3 500
402 | HEED ?%%1%%5&3% O mse —B [4B1512048 0% | 4.29 1 2500
403 | HEEE |{R B EiERET & M3zt —E [4B15:2040 TOE | 4.24 2 1000
404 | HEES |REBERFT A M E=2—B [4B15:2003 #HOIE | 4.19 3 500
405 [HEES |REEERGFT & D3 Es8 — B [4B052025 &80 | 4.17 1 2500
406 | HEIEL [{REBEZERET A PO+ e — B9 BB0E:D09] 50E | 4.11 2 1000
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407 |HEES |{REBERET A M 78— B [4B0%:2031 FOZ&E | 4.07 3 500
408 | HEED |{REEIERET & e — B [4A952019 MO | 4.14 1 2500
409 | HEES |{REBERET A M mEse — B 4A9EE2014 EO 4.08 2 1000
410| HEEE |{REEIERET A e — B [4A95:2023 55OZE | 4.04 3 500
411 |HEED |[{REEIEKRET & N3 g=— [4B161:3028 3F0:E | 4.1 1 2500
412 | HEED [{REEIERET A V3 Eh=—H [4B161:3011 20%e | 4.1 2 1000
413|HEED |[{REEIEKRET & Vi #E=—H [4B15#:3033 T OT | 4.07 3 500
414 | HEED |[{REEIERET A VU3 Ep= B [4B0%13021] #]OF | 4.16 1 2500
415 |HEES |[REBBERIT A it &= — B [4B05E3006 %O 4.06 2 1000
416 | HEED |{REEIERET A = — B [4B0%13001 EBROZ= | 4.04 3 500
417 |HEED |[{REEIEKRET & V3 Eh= =B [4A9%5:3059 Z=O% | 4.24 1 2500
418 | HEEE |{REEIERET A V3 &)= — B [4A94513034 +OIE | 4.18 2 1000
419|HEED |{REEIEXRET & VO3 #h= — B [4A9%5:3056 REOW | 4.18 3 500
40| HEEE |{REEIERET A VO3 BIEE —BP [4B1515044 ##O0Z% | 4.23 1 2500
1| HEES [{REEIERETA V35 Blzg—EF [4B161:5014 BROIE | 4.22 2 1000
42| HEED |{REEIERET A 7Bz —B [4B1#:5004 FEO 417 3 500
423|HEED |{REEIERET & V3% Bllzg — BF [4BOER5019 Z=O1E | 4.22 1 2500
4| HEED |[{REEIERET A PO B8 — B [4B0%51:5034 SOtk | 4.14 2 1000
425 | HEES |[{REBERET A P BlEE — B [4B0%R0086 SROE | 4.11 3 500
426 | HEED |{REEIERET A MO+ B8 — B [4A9%:5039 %502 | 4.25 1 2500
427 |HEED |{REEIERET & V3 Bleg — B [4A955010 BROAR | 4.21 2 1000
A28 | HEED |2 EASASEINIR MR B Y R 28— [4B15:0095 FrO# | 4.17 1 2500
429 | HEED |2 EASEASEINR MR B Y Ui 28— [4B15:0107] B2OZ | 4.16 2 1000
430| HEED |2 EAS BN MR B Y U 28— [4B15:0015 B0 | 4.03 3 500
431 |HEES |ZEEBENR SR By 2% — 7 [4B15:0003 #O#2 | 4.21 1 2500
432 | HEED |2 EASHSEINR MR E Y U 2% — 7 [4B15:001q ZFIOE | 3.97 2 1000
433 | HEES |2 EE bl ERN R SR B A 24— 7 [4B15:0006 5ROE | 3.96 3 500
434 | HEES |2 ie BN IR R B 2 U244 BB [4B0%:0002] &OM | 4.2 1 2500
435 | HEED |2 EASPASEANR MR B Y U 28 B [4B05:0054 FROR | 4.18 2 1000
436 | HEED |2 ESHSEINIR MR E Y R 28— B [4B05:0057 0= | 4.02 3 500
437 |HEES |2 EEbERNR SR B A 24— 7 [4B050051] #AOE | 4.07 1 2500
438 | HEED |2 EASASEINIR MR B Y 28— 7, [4B05:0014 fTOKE | 3.86 2 1000
439 | HEES |2 EE SRR SR By US4 7 [4B05:0134 RO | 3.82 3 500
440 | HEED |2 EASHAEINIR MR B Y R 28— B 4A95:0023 HOE | 4.3 1 2500
441 |HEES | 2R bERN R SR By R 22— 5 4A95:001 S2O0% | 4.3 2 1000
402 |HEED | 2SS IR MR B Y R 28— 4A95:0009 #8OF) | 4.3 3 500
443 | HEES | 2R el R SR By R 24— 7 [4A95:008G O | 4.2 1 2500
444 | HEED |2 ERHEINIRMERE Y IR 28— 7 AA95:0921] EOX | 4.16 2 1000
445 | HEED |2 ESHSEINRMERE Y R 28— 7 AA95:0102 ZEOzK | 4.16 3 500
446 | HEIEL td‘“ﬂ % V$¢8—H [4B1#:01000 BEO#z= | 3.87 1 2500
447 |HEED [YeETZ A V3¢ EE—H [4B161004 FRO%Y | 3.63 2 1000
443 |HEIEL [YEETE % V#5768 —H [4B1#:00200 Oz | 3.55 3 500
449 | HREEE [YeETIZ A Mt E— [4B1520029 =0t 4 1 2500
450 | HEIEL [EETE % 68—, [4B1#:0026 PEOBE | 3.63 2 1000
451 |HEED [YeETIZ A 38— [4B15:0024 FO%E | 3.61 3 500
452 |HEER [YEETE % V4568 B [4B0#R0036 O | 4.12 1 2500
453|HEED [YeETIZ A VU356 8 B [4B0%001Y ZEOKN | 3.85 2 1000
454 | HEEL [YEETE % V04768 — B [4A95:0089 PEOZ= | 3.99 1 2500
455 [HEES e BT 2% O ALE=F [4A95L00220 £OE | 3.82 2 1000
456 | HEIEL [EE T2 % Vi HE = [4A95:0002 =OHE | 4.17 1 2500
457 |HEES |t ET 2% M AE= [AA9E0097 =OZK | 3.96 2 1000
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458 | HEED | BIREE A M E— [4B15:0039 EOZ | 4.19 1 2500
459 | HEED | BIREE A M & hx—B [4B1#:0003 +O%h | 4.13 2 1000
460 | HEED |BIREE A N3 & hk— O [4B1ER0077] 2O%F | 4.14 1 2500
461 | HEED |BIREE A & hk— [4B15:0013 #AOHE | 3.96 2 1000
462 | HEED |BIREE A &k B [4BO%000S 7Ok | 4.08 1 2500
463|HEED | BIREE A V3 & hx B [4B0#10082 EEOYY | 3.94 2 1000
464 | HEED |BIREE A &k [4B0%E0091 BESOA | 4.18 1 2500
465 | HEED |BIREE A V& hk_  [4BOE0054 FROE | 4.14 2 1000
466 | HEED |BIREE A M & hk — B [4A95:0067] BSOE | 4.16 1 2500
467 |HEED |BIREE A M & hx — B 4A9500600 =20%9 | 4.11 2 1000
468 | HEED |BIREE A M3 & hk =B [4A95:0022 7LO# | 4.11 3 500
469 | HEED | BIREE A &= [AA950009 208 | 4.3 1 2500
470 HEES |BIREE % W ER=, [AA95:0007 =O0F] | 4.3 2 1000
471 |HEED | BIREE A V& UE [4A8510074 #ROM | 4.23 1 2500
472 [HEIEES | S B RALIRTE & R ee=m6B1#:007 21018 | 4.3 1 2500
A73EEES | SR RE A T_BEawe—H6B1#J021 FOE | 4.3 2 1000
474 EEED |[EFEEE A & _F{EE=56B15:0006 FIOE | 4.24 1 2500
475 EEED |[EEEE A ®_BEitE—H6B15:0034 =0%% | 4.24 2 1000
476 [HEIZES |FER®RE S ” o iE —56B15:0008 #MO%= | 4.3 1 2500
477 EEES |MRRE & T iR =56B15:0030 =05 | 4.3 1 2500
478 [ EIEES | RERBE & R B MER=56B15:0021 2=0= | 4.3 2 1000
479 | EEED |HEm L2 & "I BZE—H9B1512034 FRO= | 3.62 3 500
480 [HEIZES | M T2 % "IN B BoB05:2016 ZOfE | 4.28 1 2500
481 |EIEED | L2 & R B BH9B05:2030 220j8 | 4.23 2 1000
482 [HEIZES |HEm T2 % &I B BHoB05:2039 FFOZE 4 3 500
483 |EEED | L2 & "I B —BPA750084 #kOE | 4.08 1 2500
484 [HEIZES | MM T A2 % &I 81— BHoA9E2059 FEOZK | 4.02 2 1000
485 |EEED | M L2 & "I B = 59A95:2039 IJOZR | 3.83 3 500
486 | EEIZED | L2 & R IUF B El—EF9B 1515038 #OZE | 4.23 1 2500
487 |EEED | MM L2 & U B —E9B140032 £0O1fh | 4.09 2 1000
488 | HEIEED | L2 & &I B i —EF9B 1515502 FROKE 4 3 500
489 |EIEED | L2 & "I EEl _ B9A9E5093 OBt | 4.07 1 2500
490 [HEIZES |HEm T2 % "I E sl 5F9B0%5046 Z=0OE | 4.03 2 1000
491 |EEED |HEm L2 & &I B8R B9B0%&E5056 TO7= | 3.99 3 500
492 [HEIEES |HEm T2 % "I Bl — B0A9E5024 5039 | 3.92 1 2500
493 |EEED |HEm L2 & "I Bl — BF9A9E5007 FROR | 3.92 2 1000
494 [HEIZES |HEm T A2 % "I B — /9A955908 [ROE | 3.87 1 2500
495 |EEED |HEm L2 & "I B — /9A9E:5107 sROB | 3.68 2 1000
496 | EEEED |HEm L2 & R __BoB057017] FROZE | 3.96 1 2500
497 |[EEED |HEm L2 & R EE BN — BH9A9EL7011 SROIF | 4.09 1 2500
498 | EEED | S EALIRE A "IN 58 =59A9%1021] ZO% | 4.3 1 2500
499 | EEED |EBHTIZA &I B —BoB1510028 2201 | 4.04 1 2500
500 |#EIEES | BT 2% R e B9B0500700 FROZE | 4.3 1 2500
501 |#EEES |EE T Z2% ‘I B BoB0#:00420 7 O0Z | 4.21 2 1000
502 |#EIEES | BT 2% R B B9B0500020 $O0FE | 4.17 3 500
503 |#EMEES |EHE T 2% "I B — B9A950919 ZFOIE | 3.96 1 2500
504 |EBES |EETIZEA R E — BHoA9E:0039 O+ | 3.75 2 1000
505 |#EIEES |EE T 2% "I B — B9A950907 FEOMD | 3.66 3 500
506 |#EIEES | BT 2% RN B /PA8E0907 2I0%= | 4.28 1 2500
507 |EEES |FEEE £ ‘O EE—H9B15:0015 =0 | 4.04 2 1000
508 |#EIEES |EEEIE A R 8 _B9B05:0042 EEOZ | 4.19 1 2500
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509 EBE |FEEHEA ‘I & __BHoB05L0023 TOZ% | 3.87 2 1000
510 | #EEES |FEEIE £ R & =HPA%R0060 20K | 4.1 1 2500
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